
R.D. CONNECT NEW 4" DRAIN
TO EXG. CATCH BASIN

TYPE A

2
"

11
4"

11
16" HOLES FOR 3

4"x9"
EMBED A307 BOLTS, TYP

SEE PLAN FOR
COL. SIZE

8"

7
"

3
4" THICK B. PL.

TYP

SEE PLAN FOR
COL. SIZE

TYP

7"

7
"

11 2
"

21 2
"

3
4" THICK B. PL.

11
16" HOLES FOR 3

4"x9"
EMBED A307 BOLTS, TYP

TYPE B

1
"

41
2"

HSS 4x4 HEADER

DEFLECTION TRACK

HSS COL. BEYOND

4" L.G. STUD

W10

3x3x14ga. CLIP w/ (4) #10-16
SCREWS TO EA. STUD.  (3) 0.145"

HILT ESD PINS TO STL BEAM

3x3x14GA ANGLE 8" LONG AT EA STUD.
ATTACH TO STUD WITH (4) HILTI KWIK FLEX

#10-16 HWH SCREWS.  ATTACHED TO BEAM
WITH (3) 0.145" HILTI ESD 16P8T PINS

L 31
2x31

2x 3
8 - 3

1
2" LONG

(BOTH SIDES)

HSS 3x3 COL

3 SIDES3
16

3 SIDES3
16

8" TRACK

MTL DECK

BOX HEADER
(2) 400T200-43 W/ (2) 400S162-43

DEFLECTION TRACK

ATTACH STOREFRONT FRAME TO
BOX HEADER AS RECOMENDED
BY MANUFACTURER

4" STUD

1
"

ATTACH TRACK TO
HEADER WITH (2) ROWS

#10-16 HWH SCREWS AT
6" O.C. STAGGERRED.

3x3x14GA ANGLE 8" LONG AT EA STUD.
ATTACH TO STUD WITH (4) #10-16 HWH
SCREWS.  ATTACHED TO BEAM WITH (3)
0.145" HILTI ESD PINS

ATTACH TRACK TO DECK
WITH (2) ROWS #10-16

HWH SCREWS AT 6" O.C.
STAGGERRED.

C4

LIGHT-GAGE JOIST

EXG. METAL WALL PANEL

5x5x14 GA ANGLE WITH
VERTICAL SLOTTED HOLES

#10-16 HWH SCREWS AT
6" O.C. TO METAL DECK

CORRUGATED METAL
DECKING

METAL WALL PANEL SCREWS
AS RECOMMENDED BY
MANUFACTURER (MATCH
EXISTING TYPE, SIZE, AND
SPACING)

HILTI KWIK PRO #12-24 x
2" SCREW WITH #5 POINT
AT 12" O.C. TO EXG. STEEL
ANGLE (SIM AT NEW ANGLE)

3" WOOD SCREW AT 6" O.C.

#10-16 HWH SCREWS AT 6" O.C.
IN VERTICAL SLOTTED HOLES

BOTTOM
REINFORCING

(5) #5'S E.W.

FOOTING SCHEDULE

MARK SIZE

F3 3'-0"x3'-0"x12"

REINFORCING

PIER SCHEDULE

MARK SIZE

P1 12"x12" #3'S AT 12"

TIES

F4 4'-0"x4'-0"x12"

(4) #5'S E.W.

DETAIL

(4) #5 VERT

EXG CATCH
BASIN

61 2
"

1
0

'-3
"

61 2
"

61
2"

18'-4"

1
1

'-4
"

19'-0"

NOTES:

1.  TOF INDICATES TOP OF FOOTING
2.  TOC INDICATES TOP OF CONCRETE
3.  TOS INDICATES TOP OF SLAB
4.  ALL TOF AND TOC ELEVATIONS ARE REFERENCED
     FROM FIN. FIRST FLOOR ELEVATION = (0'-0")
5.  COLUMN FOOTINGS TO BE CENTERED ON COLUMN GRIDS, UNO

11'-0"

8
" 
TY

P

4" SLAB ON GRADE W/
6x6 W2.1xW2.1 WWF
F.F. (+0'-0") MATCH EXG.

TOC (+0'-0")
TOC (-4")

4
"

4
" 1'-0"

6'-111
2"

61
2"

1'-0"

DOWEL FTG TO
EXG. WITH (4)
#4x18" EPOXY
REBAR

EXG. COLUMN FOOTING
FIELD VERIFY SIZE AND
LOCATION

P1 (-4")
F3 (-3'-10")

TYP UNO

6'-111
2"

C
.J

.

W
1

0
x1

9

EXG CATCH
BASIN

61 2
"

1
0

'-3
"

61 2
"

61
2"

18'-4"

11
2"

NOTES:

1.            INDICATES SPAN DIRECTION OF 1"-22GA TYPE E PAINTED METAL DECK FASTENED
TO LIGHT GAGE JOISTS WITH #10-16 HWH SCREWS, 36-4 PATTERN WITH (1) SIDELAP
SCREW PER SPAN.
2.  TOS (+X'-Y") INDICATES TOP OF BEARING STEEL REFERENCED FROM FIN. FIRST FLOOR
ELEVATION (0'-0").
3.  LIGHT GAGE JOISTS TO BE Fy=50KSI (MIN) WITH (1) ROW OF MIDSPAN BRIDGING.

1
1

'-4
"

19'-0"

W10x19 (+10'-10")

41 2
"

800S200-54 LIGHT GAGE JOISTS AT 16" O.C.

W10x19 (+10'-71
2")

HSS4x4x3
8 (+8'-3")

6'-111
2"

61
2"

41
2"

HSS4x4x3
8 (+8'-3")

H
S

S
4

x4
x3

8
 (
+

8
'-3

")

6'-111
2"

41 2
"

TYPICAL CORNER
COLUMN:

HSS3x3x516 COL
4x6x12 CP PL
B.PL TYPE B

TYPICAL INTERIOR
COLUMN:

HSS3x3x516 COL
4x6x12 CP PL
B.PL TYPE A

A2 A1FOOTING AND PIER SCHEDULES
SCALE: NTS

SECURITY VESTIBULE FOUNDATION PLAN
SCALE: 3

16"=1'-0"

B1 SECURITY VESTIBULE FRAMING PLAN
SCALE: 3

16"=1'-0"

C4

B4 B2

ROOF SECTION
SCALE: NTS

SECTION
SCALE: 1"=1'-0"

A3A4

B3 SECTION
SCALE: 1"=1'-0"

C3 C2 COLUMN BASE PLATES
SCALE: 3

4"=1'-0"

SECURITY VEST. ROOF PLAN
SCALE:1

4"=1'-0"


	S101

